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SECTION A

Answer ALL questions in this section.

Questions must be answered with a cross in a box X. If you change your mind about an answer,

put a line through the box ¢ and then mark your new answer with a cross [X.

Which one of the following statements about the classical long-run aggregate supply
(LRAS) curve is correct?

N

(|
(|
(|

A
B
C
D

It is perfectly inelastic when there is a high level of spare capacity
It is relatively elastic at the full employment level of real output

It is relatively inelastic at high levels of spare capacity

It is perfectly inelastic at the full employment level of real output

(Total for Question 1 = 1 mark)

In 2022 the Government of Brazil announced that it was introducing measures to cut

the costs of bureaucracy for firms.

This policy is an example of which one of the following?

N

(|
(|
(|

A

B
C
D

Free market supply-side policy
Interventionist supply-side policy
Reflationary fiscal policy
Deflationary fiscal policy

(Total for Question 2 = 1 mark)

Between January 2022 and January 2023 Turkey’s unemployment rate fell from

11.2% to 9.8%.

Which one of the following is the percentage change in the unemployment rate for
Turkey between January 2022 and January 20237

A
B
C
D

-14

=125
-14.3
-21.0

(Total for Question 3 = 1 mark)
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4 The diagram shows a country’s trend growth rate and its actual growth rate.

Real GDP Trend growth rate

Actual growth rate

Time

With reference to the diagram, which one of the following is most likely to be
associated with a movement from point Y to point Z?

[J A Adecrease in government tax revenue —
[J B Anincrease in profits for firms —
[] € Anincrease in the rate of unemployment —
[ D Adecrease in business confidence —
(Total for Question 4 = 1 mark)
5 In Austria investment was $98 billion in 2012 and it increased to $129 billion in 2022.
Which one of the following is most likely to have caused this increase in investment?
[J A Anincrease in the availability of credit —
[J B Anincrease in the rate of tax on company profits —
[] € Anincrease in the base rate of interest —
[J D Anincrease in commodity prices —
(Total for Question 5 = 1 mark)
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6 The chart shows the annual rate of inflation* in Croatia, as measured by the consumer
price index (CPI), January 2020 to July 2023.

% 14
12
10
8
6
4
>
0-
-2 | | | |
Jan July Jan July Jan July Jan July
2020 2020 2021 2021 2022 2022 2023 2023
*This is the year-on-year inflation rate calculated monthly.
Which one of the following can be deduced from the chart?
[J A Therate of inflation was highest in July 2023
[1 B The average price level was highest in November 2022
[] € There was deflation between April 2020 and July 2020
[J D There was disinflation between June 2021 and June 2022
(Total for Question 6 = 1 mark)
TOTAL FOR SECTION A =6 MARKS
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SECTIONB
Answer ALL questions in this section in the space provided.

7 In 2022 Guyana’s rate of economic growth was the highest in the world. Its annual
percentage increase in real GDP was 62.3%.

With reference to this information, explain one cost of economic growth.

(Total for Question 7 = 4 marks)
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8 Between January 2020 and December 2022 the global price of coal per tonne
increased from $64.25 to $172.30. Japan is a net importer of coal.

Draw a SRAS and AD diagram to show the effect of this increase in the price of coal
on the price level and real output for Japan.

(Total for Question 8 = 4 marks)

7
. NN D0
P 7 8 4 6 2 A 0 7 2 8 Turn over



r

9 The table shows marginal propensities to withdraw for an economy.

Marginal propensity to save (MPS)

0.4

Marginal propensity to tax (MPT)

0.3

Marginal propensity to import (MPM)

0.1

With reference to the table, calculate the value of the multiplier for this economy.

Show your workings.

(Total for Question 9 = 4 marks)
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10 The chart shows quantitative easing in the UK between November 2009 and
November 2020, £ billion.

1000
£ billion 895

800

600

400

November July August March June November
2009 2012 2016 2020 2020 2020

With reference to the chart, explain the term ‘quantitative easing’

(Total for Question 10 = 4 marks)
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11 Kuwait's GDP per capita and average world happiness score for 2013 and 2022 are
shown in the table. This score gives a value between 0 and 10, where 10 is the highest
level of subjective happiness.

GDP per capita World happiness
($) score

2013 31082 6.52

2022 26 788 6.11

With reference to Kuwait, explain one likely impact of lower real incomes on
subjective happiness.

(Total for Question 11 = 4 marks)

TOTAL FOR SECTION B =20 MARKS
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SECTION C

Study Figure 1, Extract A and Extract B in the Source Booklet before answering Question 12.

Write your answers in the space provided on the following pages.

12 (a) Define the term ‘recession’

(b) With reference to the third paragraph of Extract A, explain the term ‘exchange
rate’

(c) Analyse one likely effect of the ‘increase in the number of overseas visitors’
(Extract A, lines 8 and 9) on Japan’s circular flow of income.

lllustrate your answer with a circular flow diagram.

(d) With reference to Extract A, examine the likely impact on Japan’s real output of
the fall in domestic consumption.

(e) With reference to the information provided and your own knowledge, discuss
factors that the BoJ might consider when setting the base interest rate.
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12 (a) Define the term ‘recession’

(b) With reference to the third paragraph of Extract A, explain the term
‘exchange rate’
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(c) Analyse one likely effect of the ‘increase in the number of overseas visitors'’
(Extract A, lines 8 and 9) on Japan’s circular flow of income.

[llustrate your answer with a circular flow diagram.
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(d) With reference to Extract A, examine the likely impact on Japan’s real output of
the fall in domestic consumption.
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(e) With reference to the information provided and your own knowledge, discuss /\
factors that the BoJ might consider when setting the base interest rate. /\
(19 g

P78 46 2 A0 1 8 2 8 EEE



<<
Ly
oc
s
T
=
z
AL
B
e
O
z oS
S
o

_DONOTWRITEINTHISAREA

X

X,
%

%)
<

0302020 262606%6%6%6 % %% %%

XX

XX
XX

19

. NN DO
P78 46 2 A0 1 9 2 8 Turn over ¥



(Total for Question 12 = 34 marks)

TOTAL FOR SECTION C =34 MARKS
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SECTIOND
Answer ONE question from this section.
Write your answer in the space provided.
EITHER

13 In 2022 the Government of China decided to invest 1.48 trillion yuan in many new
transportation, energy and telecommunication infrastructure projects.

Evaluate the likely benefits of an increase in government expenditure on
infrastructure.

Refer to a country of your choice in your answer.

(Total for Question 13 = 20 marks)

OR

14 Between 2012 and 2022 the productivity rate in Turkey increased by 39.2%.
Evaluate the likely benefits of an increase in the productivity rate.
Refer to a country of your choice in your answer.

(Total for Question 14 = 20 marks)
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross [X.

Chosen question number: Question 13 [] Question 14 []

Write your answer here:
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Sources for use with Section C
The Japanese economy

Figure 1 Base interest rate, January 2004 to December 2023
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Extract A Economic growth

Between quarter 1 (Q1) 2023 and quarter 2 (Q2) 2023, the rate of economic growth in
Japan increased from 0.9% to 1.5%. This increase in Japan’s real Gross Domestic Product
(GDP) was double the original forecast. Therefore, concerns that the country was exposed
to a recession were eased.

The main reason for the increase in real GDP was an increase in exports that rose by

3.2% in Q2 2023. This was mainly as a result of higher exports of cars caused by an
improvement in supply chains. There was also an increase in the number of overseas
visitors to Japan. The contribution of tourism to GDP is included in net trade figures and
returned to more than two-thirds of pre-global health crisis levels. The number of tourists
was expected to grow in the second half of 2023 after China ended restrictions on group
tours to a number of countries including Japan.

However, economists warned that the fall in domestic consumption, following the
global health crisis, remained a concern. They suggested that this was mainly the result
of Japan’s weak exchange rate. Domestic consumption, which makes up more than

half of Japan’s economy, fell by 0.5% between Q1 2023 and Q2 2023. During the same
period, Japan’s imports decreased by 4.3%, which was one of the largest reductions ever
recorded. This indicated that the rising rate of inflation was having a significant impact
on consumer expenditure.

Until the end of 2022 Japan had faced several years of deflation and no wage growth.
However, in 2023 consumers experienced significant increases in the prices of goods and
services. Japan’s weak exchange rate resulted in an increase in the price of raw materials
and energy for businesses. It also created greater uncertainty that had an impact on
business investment.

Extract B Monetary policy

The aim of Japan’s central bank, the Bank of Japan (Bol), is to achieve a 2% inflation
target. In Q2 2023 the annual rate of inflation averaged 3.3%. Upward pressure on prices
caused workers to demand higher wages, resulting in a rise in inflationary expectations.

The BoJ argued that this increase in the rate of inflation was temporary. Therefore, it
continued to maintain the base interest rate at a low level.

Economists claimed that the BoJ’s argument was weak. They stated that even the
Government of Japan expected the annual rate of inflation to be 2.6% in 2023 against
the BoJ’s forecast of 1.8%. Therefore, there would no longer be a case for maintaining a
low base interest rate, that was introduced at a time when the rate of inflation was below
the inflation target. Moreover, the probability of a global recession, considered to be a
significant risk to Japan’s economy, had diminished. To achieve the inflation target of 2%
an increase in the base interest rate would be necessary.
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